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O2A e =2 280,000 0 670 1 153,670 0
2IAL =gl 280,000 0 bkl ,243 1 128,243 0
21101 A 2 2= 280,000 0 11=0 ,160 | 104,160 0
orNelE 10 0 2R =4 , 957 , 957 0
Nnagda 10 0 ThE A YE A ,080 ,080 0
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080182 22,830 | £6,960 H7J1Et =4 2 ] 400 400 0
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BH1dEL0IE=2 22,830 | 46,960 1210|322l .800 ,800 0
09& =& 200 0 1225 5 L H| ,800 ,800 0
g1+ 200 0 12331 2id| 200 200 0
91271 EtHI 2 01 Kb ==& 100 0 l ,627 ,627 0
G137/t & = 100 0 13104 | 500 500 0
1+=EH|Yra .887 ,887 0
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135Xt 2kt ,880 2,880 0
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AL , 710 16,710 0
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811 GifdiHI 25,400 18,440 46,960 [Ooligld] 18,440,000 - 25,400,000% = £.6,960,000&
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